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2.

General Instructions :

1.

2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the question
i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective-type questions are to be answered within the allotted time and no
separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No.63/OS /1, Set -A on the Answer-Book.

(@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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BUSINESS STUDIES

AR 3AETTH

(215)
Time : 3 Hours] [Maximum Marks : 100
e ; 3 que] [quries : 100
Note: (i) All questions are compulsory.

(i1) Marks allotted for each question are indicated against it.

fdw () e uva e € |
(ii) ek 99 o 37k IHH WA WA T F |

1. The Primary responsibility of business towards its owners is : [1]
(A) Giving regular orders for purchase of goods
(B) To making maximum profit and Ensuring safety of their investment
(C) Providing Opportunity for better career prospects
(D) None of these
TG T AU T o T TATHE ST ¢
(A) W s & foru fFafia wa @ emew g
(B) cifereram oIw SHUHT 3R 37 g R T fafew < wren gifvem e
(C) IS SR & TEE TEH &7
(D) I | | HE T

2.  Which industry falls under service industry? [1]
(A) Oil industry (B) Sugar industry
(C) Chemical industry (D) Hotel industry
fomm o @ e sgEm Y IgEm R
(A) o= gam (B) =it sgam
(C) e s (D) rew sgam
Ok 0
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3.

In the absence of partnership deed the profits of the business will be shared
between partners [1]

(A) Equally

(B) In their Capital ratio

(C) In the ratio agreed from time to time

(D) In the ratio decided by arbitrator

ARl Herd A g i feafa | sgaem o ey wreieri | R stqum § sneen e smem
qwR:

(A) =R TR

(B) Sk Usft argum |

(C) owa Twa W HgHa It |

(D) = futa s1quma 4

The insurance policy which protects the employer against loss due to dishonesty

of his employees is known as : [1]
(A) Burglary Insurance (B) Fidelity Insurance
(C) Liability Insurance (D) Property Insurance
e anferedt STt e it ek wHTTRET S SEEHL § AT g | ST @ 98 8 -
(A) = sfimn (B) Forvama s
(C) g (D) uftewaf 1 s
Which of the following is not a public sector bank? [1]
(A) Corporation bank (B) State Bank of India
(C) ICICI bank (D) Bank of Baroda
7 § @ s e g w SR R 2
(A) HURIA Tk (B) e s 3w sfeean
(C) 313030811318, Sk (D) ik 31T sRIET
Ok:10)
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6. Who is the last link in the chain of intermediaries? [1]

(A) Distributor (B) Retailer
(C) Wholesaler (D) Consumer
Tl B sfwen § st o w3
(A) foen (B) weaw fskan
(C) ok fershan (D) Surer
7. Which of the following scheme design to boost sales in off season? [1]
(A) Coupons (B) Exchange schemes
(C) Free samples (D) Price-off offer
HEY o TR W, fosha Taeda o foTe At A a91E S @
(A) FH (B) =g ferfwa arsim
(C) g i <t fereron (D) wea # et S
8. The Standards of Weights and Measures Act was enacted in : [1]
(A) 1956 (B) 1986
(©) 1951 (D) 1937
HHH HIY—alet T el oIR] feme T
(A) 1956 (B) 1986
(C) 1951 (D) 1937
9. Capital required for paying wages and salaries is known as : [1]
(A) Block capital (B) Fixed capital
(C) Working capital (D) All of these
A 3R TG o WIAH o 10 STTavaeh Yt ol hgd ¢
(A) wivafm g (B) wors st
(C) v st (D) wRier st
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10. Wage employment does not include : [1]
(A) Serving for wages or salary
(B) Contract between employers and employee
(C) Perform the activities under agreement
(D) Engaged in some business activity and manages it on his own
T A TSR | T feTd T8l 8 ¢
(A) W<l A AT * AGH HAl TGH FHEAT
(B) Toaitemn 3 sl & o srfaren
(C) wmeia # fFeiRa framat @ Feurem
(D) <R3 @™ AT AU T § THRT TaG6H HAT

11. State any three limitations of a cooperative society. [3]
gt wfufa it fm=l 7 dmstt @ sga Ak |

12. What is ropeway transport? [3]
A9 ufterg = 22

13. What are the different modes of payment? [3]
WA <t fafira fafemt m wm @ g

14. Write short notes on entrepreneurship. [3]
SgEmyieran W e fewutt foReu |

15. "Self-employment is better than wage-employment." Discuss [3]

‘TSR, T ISR | 98w 2 foeremn hifsu |

16. What is water pollution? What are the causes of water pollution? Give any three
such causes. (4]

STEIGHUT | ST ST 37 et IGHUT o 1 ShIRUT B ? RIS i ShRUT SATS |
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17.

18.

19.

20.

21.

22.

23.

24.

Distinguish between public warehouse and Govt. warehouse. [4]

rEIeh WER T8 37 Rl WeR g # o 9ig Hifm |

Define retailers. State the functions of retailers. (any three functions) (4]

e o B R SR | e e 3 R g R | (5 A )

'Every consumer must demand a proof of transaction viz. cash memo etc. from
the seller while buying a product'. Identify the relevant consumer's responsibility
and explain it in brief. (4]

‘T IUHTET <hl, faehal | IcTE 1 7T A W, @9 3 & TAOT JQ ok, FHr i\ snfe H
I AT AU | AEd SUHIST STETH hl UgHH hifeTg a2t SHehT Helu # guid hife |

State the factors required for setting up the business. (any four) [4]

AT TG % FoTU STTaveres HRehl o1 33 HIT | (S 9R)

Define sole-proprietorship. Write any four features of sole-proprietorship. [5]

Tehel T1THed <hl TRATHT AU | Tehet Wi hl iz oR feoiwanedt i fofem |

Give a short description on "Fax" and Telax. [5]
e 3R 2ot 1 Ea | quia hif |
State any five features of private courier services. [5]

‘Fsft iR Tan’ it g ura fowmanet w1 Seoa R |

Why departmental stores are becoming more and more popular in Indian cities?
Give reasons. [5]

WA &% I | i HeR F@b 7 W & iR it o B @t ® § 7 ot smeme |
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25.

26.

27.

28.

29.

30.

Define consumer. Write any three responsibilities of A consumer. [5]

IUNHTET Rl TRAT RIfTE | Susiern it g it = R fofe |

Distinguish between economic activities and non-Economic activities. (any three
point of difference) [6]

Ffieh 3R Sreieh foharmall H oreit SATST | (R 1S A foig 9e)

What is a multinational company (MNC)? State any four advantages of MNC.[6]
TEUEE FHA © FAT AHIE: 3 ? TEUEE FA ok hig AR ATH I I T |

Explain briefly any four advantages of KPO. [6]
T UTshaT HIeRIuT & i3 TR 1Al 1 TT | JuiH il |

Whether advertisement is necessary for business? Discuss. [6]

T oo =aE™ & T stervaes 22 famemn hifsu |

Why is consumer protection required in India? Discuss [6]

WA H IUHISHT TEIUT <hi 3TEvaehdl =t @ ? feraermn s |

Foo e o
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This Question Paper consists of 30 questions and 8 Printed pages.
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SI1. No.
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BUSINESS STUDIES set /a2 B

SRR AT
(215)

Day and Date of Examination

(when =1 7 = fRFiw)

Signature of Invigilators 1.

(et & gEaEr)

2.

General Instructions :

1.

2.

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in the question
i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to you.

All the questions including objective-type questions are to be answered within the allotted time and no
separate time limit is fixed for answering objective-type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

Write your Question Paper Code No. 63 /OS /1, Set -B on the Answer-Book.

(@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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BUSINESS STUDIES

AR 3AETTH

(215)
Time : 3 Hours] [Maximum Marks : 100
e ; 3 que] [quries : 100
Note: (i) All questions are compulsory.

(i1) Marks allotted for each question are indicated against it.

fdw () e uva e € |
(ii) ek 99 o 37k IHH WA WA T F |

1. The Standards of Weights and Measures Act was enacted in : [1]
(A) 1956 (B) 1986
(C) 1951 (D) 1937
HHH HIY—alet T el R] fema T
(A) 1956 (B) 1986
(C) 1951 (D) 1937
2.  Wage employment does not include : [1]

(A) Serving for wages or salary

(B) Contract between employers and employee

(C) Perform the activities under agreement

(D) Engaged in some business activity and manages it on his own
T A TSR | T feTd T8l 8 ¢

(A) W<l A AT * AGH HAl TGH FHEAT

(B) Taitemn 3 sl & o st

(C) wmeia # fFeiRa foramat @ Feurea

(D) <R3 @™ AT AU T § THRT TaG6H HAT

(=1 =
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3. Who is the last link in the chain of intermediaries? [1]

(A) Distributor (B) Retailer
(C) Wholesaler (D) Consumer
Tl B sfwen § st o w3
(A) T (B) e fershan
(C) ofrek ferghan (D) Susrer
4. Which of the following is not a public sector bank? [1]
(A) Corporation bank (B) State Bank of India
(C) ICICI bank (D) Bank of Baroda
= o @ s TS g SR R
(A) HURYA Sk (B) ®e g Itk gfean
(C) g wh.3me. 5. 318, S (D) SR 3TH =T
5. Capital required for paying wages and salaries is known as : [1]
(A) Block capital (B) Fixed capital
(C) Working capital (D) All of these
A 3R TGN o WIAH ok 10 STTavaeh Yt ot had ¢ ¢
(A) wffem gsht (B) zors dsht
(C) wryier geit (D) Iwie Tt

6. Which one of the following is not the characteristics of Joint Hindu Family
Business? [1]
(A) Membership by birth
(B) Unlimited liability of Karta
(C) Unaffected by death of a member
(D) Youngest member of family is Karta
= o | S dge fog aftem ssaem & g 38 22
(A) 1 &R W Sl
(B) <hat =t ittt arrea
(C) foreht wewa i ueg © wenifera &

(D) uftaR <1 Aa® 1 AT H TS FHal g 2|

(=1 =
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7.

The industries engaged in building, roads etc. are known as : [1]
(A) Construction industries (B) Manufacturing industries

(C) Extractive industries (D) Generic industries

e, g 3Nt 3 P v e §

(A) fmior sgzm (B) fafmior sgam

(C) Frresmur sgam (D) i Sgart

Which of the following scheme design to boost sales in off season? [1]
(A) Coupons (B) Exchange schemes

(C) Free samples (D) Price-off offer

HE o G H, fosha TadA & o7 SineEt Se S S @

(A) FH (B) = fafma g

(C) Hwa Tl ot fareron (D) Hea | wHHt ol T

The insurance policy which protects the employer against loss due to dishonesty

of his employees is known as : [1]
(A) Burglary Insurance (B) Fidelity Insurance
(C) Liability Insurance (D) Property Insurance

s unferet At Freiern Rt 3ok SRt B SEuT | gAaTel N A Tt 2 9g 2
(A) = st (B) fergama sfm
(C) g s (D) uftewafs &t s

EME
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10.

11.

12.

13.

14.

15.

16.

The Primary responsibility of business towards its owners is : [1]
(A) Giving regular orders for purchase of goods

(B) To making maximum profit and Ensuring safety of their investment

(C) Providing Opportunity for better career prospects

(D) None of these

TG T AU T o T TATHE ST ¢

(A) ¥ s & foru fFafua ®a @ emew o

(B) cifersram &w SHMT 3R 3k g fehu & fferw <Rt wren gRtvaa e

(C) IS SR & a8 TeH T

(D) Wik | HIE TE

What are the different modes of purchase? Explain. [3]
%3 < faftrm ugfoai S 2 2 auemeu |
"Self-employment is better than wage-employment." Discuss [3]

‘TSR, T ISR | I8 2 foe=mn hifsu |

Write short notes on entrepreneurship. [3]
SgEmyieran W Hiee fewutt foReu |

What is ropeway transport? [3]
qua ufag w2 ?

State any three limitations of a cooperative society. [3]
wgenrl wfufa f fFgl i dimsn @ sga fifk |

State the factors required for setting up the business. (any four) [4]

SEETE TG % T STTavash HReh &l 3g@ HIRT | (F1E aR)
Ok:10]
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17.

18.

19.

20.

21.

22.

23.

24.

'‘Every consumer must demand a proof of transaction viz. cash memo etc. from
the seller while buying a product'. Identify the relevant consumer's responsibility
and explain it in brief. (4]

Tk IUHTST <hl, Toehal | 3cUTE 1 7T A W, T 2 6 TAOT JA TR, For dimr snfe H
HIT ! TR0 | Tird IUHIERT ST hl UgT ShifeTg a2l SHehT Heig # Ui Hifs |

What is land pollution? What are the causes of land pollution? (Give any three
such causes) [4]

W TGHUT T BT g7 YW SIGHUT o 1 RO E ? U TRl i ShRuT W1 3 it |

Distinguish between public warehouse and Govt. warehouse. (4]

TSI HER e 3 T WER g H R WE Hi |

Define retailers. State the functions of retailers. (any three functions) (4]

Tt foshar @t aftenfua e | Fea forshan & st i sg@ il | (18 i @)

Why departmental stores are becoming more and more popular in Indian cities?
Give reasons. [S]

NG F YA § i WeR F6 fR w R siv aifte o B B @ § 7 o wwEnsu |

State any five importance of postal services. [5]
BTeh U137l & i Uia Hged Samsy |
Define consumer. Write any three responsibilities of A consumer. [5]

IUNHTET Rl TRAT RIfTE | Susiern it g it = R fofe |

Define sole-proprietorship. Write any four features of sole-proprietorship. [5]

Tehel T1THea <hl TRATHT AU | Tehe TTTHea hl iz R feoiwanedt i fofam |

[=]%i[=]
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25.

26.

27.

28.

29.

30.

Give a short description on "E-mail". [5]

3—H T AU H FUMH HC |

Whether advertisement is necessary for business? Discuss. [6]

T T =aE™ & foTu stervaes 22 fememn hifsu |

Why is consumer protection required in India? Discuss [6]

WA H IUHISHT TEIUT <hi 3MEvaehdl =t @ 2 feraermn s |

What is Joint Stock Company? State any four advantages of Joint Stock
Company. [6]

A Ysit o1 31ef FATST | S U R o fehl OR ol o 3g@ iR |

Distinguish between economic activities and non-Economic activities. (any three
point of difference) [6]

Ffieh 3R Sreieh foharmall H oreit SATST | (R 1S A foig 9e)

Explain briefly any four advantages of KPO. [6]
T UTsHaT BRIl & i3 TR 1Al 1 TT | guiH hifs |

Foo e o
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This Question Paper consists of 30 questions and 8 Printed pages.
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General Instructions :
1. Candidate must write his/her Roll Number on the first page of the Question Paper.

2. Please check the Question Paper to verify that the total pages and total number of questions contained in
the Question Paper are the same as those printed on the top of the first page. Also check to see that the
questions are in sequential order.

3. For the objective type of questions, you have to choose any one of the four alternatives given in the question
i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given to you.

4. All the questions including objective-type questions are to be answered within the allotted time and no
separate time limit is fixed for answering objective-type questions.

5. Making any identification mark in the Answer-Book or writing Roll Number anywhere other than the
specified places will lead to disqualification of the candidate.

6. Write your Question Paper Code No. 63 /0OS /1, Set -C on the Answer-Book.

7. (@  TheQuestion Paper is in English/Hindi medium only. However, if you wish, you can answer in any
one of the languages listed below :

English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya, Gujarati,
Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
Answer-Book.

(b)  If youchoose to write the answer in the language other than Hindi and English, the responsibility
for any errors/mistakes in understanding the questions will be yours only.
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BUSINESS STUDIES

AR 3AETTH

(215)
Time : 3 Hours] [Maximum Marks : 100
e ; 3 que] [quries : 100
Note: (i) All questions are compulsory.

(i1) Marks allotted for each question are indicated against it.

fdw (i) e erfEm E |
(ii) IR U9 % 37eh 36k |THA ST T E |
1. The insurance policy which protects the employer against loss due to dishonesty

of his employees is known as : [1]
(A) Burglary Insurance (B) Fidelity Insurance
(C) Liability Insurance (D) Property Insurance
ST UTfeTEl St e Shi SHeh TR i SgHT! § FHETe gl § Il g I 8 ¢
(A) = = (B) forgama s
(C) g =i (D) ufeerafs = s
Who i1s the last link in the chain of intermediaries? [1]
(A) Distributor (B) Retailer
(C) Wholesaler (D) Consumer
el 6t siwen § sfm wE FE
(A) foreen (B) e ferha
(C) ek fershan (D) SuwerT
[m]2![w]
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3.  Which of the following scheme design to boost sales in off season? [1]

(A) Coupons (B) Exchange schemes
(C) Free samples (D) Price-off offer
TS o Tua H, foera dadia o T et I s A 2
(A) |H (B) =g ferfaw wiemmg
(C) wgwa gt = feramon (D) gea @ =t i e
4. Capital required for paying wages and salaries is known as : [1]
(A) Block capital (B) Fixed capital
(C) Working capital (D) All of these
A 3R TGN o WIAH % 10 STTavaeh Uit ot had ¢
(A) wfem gt (B) o st
(C) wrvier geit (D) Iwie Tt
5. Agricultural Products Act was enacted in : [1]
(A) 1956 (B) 1986
(C) 1951 (D) 1937
FiY 3 sifafem S ad damag 2
(A) 1956 (B) 1986
(C) 1951 (D) 1937
6. The Primary responsibility of business towards its owners is : [1]

(A) Giving regular orders for purchase of goods

(B) To making maximum profit and Ensuring safety of their investment
(C) Providing Opportunity for better career prospects

(D) None of these

SHIEE T U TAMHIT ok Tfd TTATHR AT ¢ ¢

(A) Ut T3 & foru Fafia wu @ emew 2

(B) 3tfereham oW HHMET 3R 37k g fohu 7@ Fferw i gren giafvea s

(C) IS SR & TEE TEH &7

(D) I | | HE T
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7.

In the absence of partnership deed the profits of the business will be shared
between partners [1]

(A) Equally

(B) In their Capital ratio

(C) In the ratio agreed from time to time

(D) In the ratio decided by arbitrator

AT Fora 7 3 R ferfa o sxamm o ey w1 wrgiert @ i siqur | stae fean smom
W

(A) SO SR

(B) ek St argum §

(C) w@a 99a W HgHa SHuma H

(D) u= futa argum @

Which of the following is not a public sector bank? [1]
(A) Corporation bank (B) State Bank of India

(C) ICICI bank (D) Bank of Baroda

7 % @ =i e g w SR R 2

(A) HUNEE Sh (B) Wz s 31wk sfeean

(C) o3 .o1E #1378, S (D) ek 31T R

Wage employment does not include : [1]

(A) Serving for wages or salary

(B) Contract between employers and employee

(C) Perform the activities under agreement

(D) Engaged in some business activity and manages it on his own
T A USTIR § THfeTd T8 @ ¢

(A) <TGl A AT * AGH HAl TGH HEAT

(B) e 3t =l < < wEfeET

(C) wwgita ® feiRa ferami @ Feaem

(D) <R3 @™ AT AU T § THRT TaG6H HAT

63/0S/1-215-C] G931 5 = [ Contd.....



10. Which industry falls under service industry? [1]

(A) Oil industry (B) Sugar industry
(C) Chemical industry (D) Hotel industry
= 4 | e sgEm wen sgEm R
(A) o 3gam (B) =it gz
(C) o s (D) greet g
11. "Self-employment is better than wage-employment." Discuss [3]

‘TSR, o= ISR A I8 2 foe=mn hifs |

12. Write short notes on entrepreneurship. [3]
SgEmyieran W Hiew fewutt foReu |

13. State any three advantages of a cooperative society. [3]
gl Ol o g A9 Tl 1 3 RN |

14. What are the different modes of payment? [3]
WA <t fafira fafemt m wm @ g

15. What is ropeway transport? [3]
AU ufterga - 22

16. 'Every consumer must demand a proof of transaction viz. cash memo etc. from
the seller while buying a product'. Identify the relevant consumer's responsibility
and explain it in brief. (4]

‘T IUHTET <hl, faehal | IcUTE 1 7 A W, 9 2 & THOT JQ ok, FHer i\ snfe H
I AT AU | AEd SUHIST STETE hl UgHH hifeTg a2t HehT Heiu # guid it |

[=]2'[m]
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17.

18.

19.

20.

21.

22.

23.

24.
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State the factors required for setting up the business. (any four)

O TATTT % FoTY STTavash wieh! o1 I HIRNTT | (1S 9R)

[4]

What is water pollution? What are the causes of water pollution? Give any three

such causes.

STETIGHUT | ST ST 37 et TGOt o 1 ShIRUT B ? RIS i ShRUT SaTS |

Define wholesalers. State the functions of wholesalers. (any three)

otk forshel Al URWTTYA SRITNTT | ofieh forshaneti < ohig diF Tt o Sg@ it |

Distinguish between public warehouse and Govt. warehouse.

TSI HER e 3 T WER g H SR WE Hi |

Define consumer. Write any three responsibilities of A consumer.

IUNHTET Rl TRAT RIfTE | Susiern it g it = R fafe |

Define sole-proprietorship. Write any four features of sole-proprietorship.

Tehel T <hl TRATET S0 | Uehet Tt <ht shig =R ferwanat =t forfRam |

Give a short description on "Teleconferencing".

N SRR T WY W Ui HIfT |

State any five important saving schemes offered by post office.

STeh T G UET S Uil Weeaqul Sna s 3 i |

[4]

[4]

[4]

[S]

[5]

[5]

[S]



25.

Why departmental stores are becoming more and more popular in Indian cities?
Give reasons. [5]

R F el § fumia WEr w6 R W R oiv sifte o B B @ § 0 o wwEnsu |

26. Explain briefly any four advantages of BPO. [6]
T AT STel I IehiuT o his OR Tl ol LT § THSAST |

27. Distinguish between economic activities and non-Economic activities. (any three
point of difference) [6]
afefeR 3R sTTflen fohamall § o JaTsT | (SR whiE i fog 3aW)

28. Why is consumer protection required in India? Discuss [6]
A H IUHIHIT FREAUT Tl IR i 2 ? T FHife |

29. What is a multinational company (MNC)? State any four advantages of MNC.[6]
TEUEE FHA © FAT ATHIE: 3 ? TEUEE FA ok hig AR ATHI I I T |

30. Whether advertisement is necessary for business? Discuss. [6]
1 foua s & foru stavas 22 fomemn il |

Clodo
O[H0]
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